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Y1 =1 + T2 (5)
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y1[n] = @1[n] + 22[n] (6)
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y2[n] = axs[n] (7)
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a1y1 + agyz = by + baxo (8)
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yln + 1] = z[n] (9)
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>> fs=8000;

>> t=0:1/fs:1-1/fs;

>> s=sin(2+pi *800*t) +si n(2*pi *500+t);
>> soundsc(s, fs)

>> r=1:100;

>> subplot(3,1,1); plot(s(r));
>> sd=wshift(1,s,-5);

>> subplot(3,1,2); plot(sd(r));
>> soundsc(sd, fs)

>> ss=s+sd;

>> subplot(3,1,3); plot(ss(r));
>> soundsc(ss, fs)
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z[n] + z[n — 1] + x[n — 2]

yln] = 3 (10)
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>> fs=8000;

>> t=0:1/fs:1;

>> r=0. 8x(—1+2xrand(si ze(t)));
>> n=1: 100;

>> plot(t(n),r(n))

>> sound(r, fs)
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>> s=sin(2xpi x440+t);

>> sn=0. 8*s+0. 1+r;

>> n=1: 100;

>> plot(t(n),sn(n),t(n),0.8*s(n))
>> sound(sn, fs)
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goooog 22: for000000O0 3000000000

>> pn=3;
>> for i=pn:length(t),
y(i)=mean(sn(i +((1:pn)—pn)));

end

>> plot(t(n),sn(n),t(n),y(n),t(n),0.8«s(n))
>> sound(y, fs)

>> sound(s, fs)

>> sound(sn, fs)
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yin] = aln] + goln — 1]+ galn — 2 (1)
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gboooog 23: 000000000000000

>> h=ones(1, 3)/3;
>> y2=conv(h, sn);
>> plot(t(n),y2(n),t(n),y(n))
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>> a=1: 3;

>> b=1:3;

>> find(a”=b)
ans =

Enpty matrix: 1-by-0

gobooboobboobooboobboooboobbooboobbooboobboobooboo
gbooobOobooooboboon eps 000000000 DOOOODOODOO

>> find(y2(1:1ength(y))—y>eps)
ans =

2
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(n=0)

' (12)
0 (n>0)

x[n] =

gbooobO1o00bo0ooobooboooooboooo
2000 00000000000 MATLABOOOOOOOOOO

>>inmp([1 20]) =[1 0];

jhgboooboobooooboboooobooboboooooboon

>> h=ones(1, 3)/3;
>> h_i =conv(h,inp)
>> stem(h.i)
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y[n] = —0.5y[n — 5] + z[n] (13)

gooooooooooon
y[n] = —0.5z[n — 5] + z[n] (14)

gogooobooboobodoooooobooobooobboooooobobb bbb bbbboooUoo
0000000000000 1000000000000000 (13)0 0 (1400000000000000
goooo
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z[n] = (15)
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goooooobooo

y[0] = —0.5y[~5] + 2[0] = —0.5-0+1=1
y[1] = —0.5y[—4] + z[1] = -0.5-04+0=0

0 (13)0000000000000o0000o0o00o0o00oo0o0ooO0o0DooOoOoUoOoOOoUooOoOn
O0000000000000000000O00 IR (infinite impulse response) 00 000000000000
O00000000000000000000000000000OFIR (finite impulse response) D 000000
oono
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0000000000000 0000000000000U0000DU0OoO0OUoO0OUO (B)ODUoooOoooo
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y[n] + 0.5y[n — 5] = x[n] (16)
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>>irdir =filter(b,a,inp);

FIROODOOOOUOOOfilterU0OUD0OOD0OOFIROODUDOUODODODOODOOOOOOOO ynj=...0
obbo0a=10000
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000000 24: fir1 0000 LPFOODO

>> h_l p2k=fir1(40,0.5);
>> stem(h_l p2k)

gbobobobobobobobooooboobbobuobobob 210 snJ0O0ODOODO0OOOOD0 filter
gooooooboo

>> snf=filter(h. p2k,1,sn);
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o0ooo0o00 25: butter0 000 LPFOOO

>> [ b, a] =butter(10,0.5);

23



